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Important Instructions .

i)

ii)

(v)

v)

- d1 @usi W fawifaa #9—(37), (F) @& (9) |
Question paper is divided in three Sections—<(A), (B)
and (C).

TS (¥) & At w1 7@ w0 P €

All'questions of Section (A) are compulsory.

GUE () W@ (W) 4§+ vt s @ve ¥a s
Solve any one Section from Sections (B) and (O).

T WUE & W A F IW E @ W w Rl wn
|1few |

Write all answers of each section in same place.

stfam wrz-dim w1 Ieer e Agifes v & fog &

Maximum word-limit is only for the theoretical questions
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WUY-( 1) / Section-(A)
wpErd vl aur WPy ¥ frg dore

(Partnership Firms and Company Accounting)

Ader : WUE-(3) & wlt e afrard §) v w1 Y 6 A% ey IWHA T
¥ T W W1 3% P b wes T ®I I W 91 7 A o &
¢ 71 afrs ww ot £

Instruction : All questions of Section-(A) are compulsory. Question Nos. 1 to 6 are very
short answer type questions carrying |1 mark each. Answer these questions

in / word or / sentence and also include objective type questions.

aqﬁraa T .
Objective type questions :
we-1 wfat .
(37) 9d waf« (A7) 3 wafa
( wafda
M "~ () ¥ & %k (1]
Goodwill is : ,&\Q’
O
(a) mg;b@‘&ets (b) intangible assets
(c) currcnt assets (d) None of these
W-2 e a €
(3n fagza @ (® T W
(7)) WEaw (?) i ¥ &1 g1
[1
Revaluation A/c is made : |
(a) on dissolution (b) on profit
(c) onadmission (d) on dissolution of firm
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Frder

(31

SUEICEE RIS B

(-37) AT @ren (%) Swafs® @

(§) TH9E @ . (3) ™ @ a7 (1]
Share Application A/c is a :

(a) Personal A/c (h) Real A/c

(¢) Nominal A/c (d) None of thesc

TIHSH 98T A WHER! H gAan we feaht gt 2 (1]
How many minimum members needed in the partnership business?

Hufaal v fel 9 Tawty goa w ey wm o faen s i ? [1]

On which account the book value of assets and liabilities are written?

FR # w@nh PR e 2 (1]

Who is the owner of a company?

. g HEE 7 Q 10 7% oy It g &) 9% 3 W 3 3 Frwifa &1 IW
F afuman wee-dim so s ¥

|
Instruction : Question NossZ-to 10 are short answer type questions. Each question

carries 3 mafks. Maximum word-limit of answer is 50 words.

7 7 e FEH A 2 100 FT& 10000 FHan 3w 1 frofea 2 10 wfa siw
Sitfiers qu Fontfiv R ) sae 3 wwa it aiell & siftram wfea Tl of
W 1 7 | FavEs ueh wifieat i (3]

A to Z Company issued 10000 equity shares of ¥ 100 each at a
premium of T 10 each. The full amount including premium was

received along with the application. Give necessary Journal Entries.

o T=d 3 € 10 S 20000 THA sty ser F Prifi fww ) wyot afn
T W €T | FEE gt § vl wfafeat it 3]
Ranjana Traders issued to the public 20000 equity shares of ¥ 10 each.
All amounts have been received in lump-sum. Pass Journal Entries

in the books of company.
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[4]
WA-9  UE AT 3 T 72,000 6@ F G G HHTE s A 100 et
qulew GwE i 10% a2 W Foifia feg 1 deht wfafeal i
A company purchased assets worth ¥ 72,000. It issued fully paid-up

equity shares of ¥ 100 each at 10% discount. Give Journal Entries.

[3]

w-10  ©Afa & qeaisa i fafyal fafag (3 3 | [1%+1%=3]
Write the methods of valuation of goodwill (any two).
fr ;W Wi 11 T 12 Y 3900 e & | I@E v W 4 3 Frifa E ) g
W R iafa fawmea &)

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

carries 4 marks and has internal choice.

u¥-11 @t 3dafa & 1 | sr fafag [1x4=4]

Write any four causes of creation of goodwill.
3794ar / OR
O

3
T uE m@n [ § 9 iR fafaw
& ) .
Distinguish b@%n Fixed Capital and Fluctuating Capital Account
(any four). @

W12 e sy e O W H AU & W ¥ I ot
¥ 20,000 31X 216,000 ¥ | 3¢ WFd HTE T 600 AT W 1 Ay ¥
Jot R 6% qﬁmmﬁmmtlﬂﬁﬁﬂmmm%tﬁ
212,000 97| Ty ¥1f A @ /95 | [4]
Alok and Ashok are equal partners in a firm. Their capitals are
220,000 and ® 16,000 respectively. Ashok is entitled to get salary of

¥ 600 per month. Interest on capital is 6% P-a. The profit of the firm

before the above adjustment was ¥ 12,000, Prepare Profj¢ and [
0ss

Adjustment Account.

Ang ATR
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(5]

3rrar / OR

& aag $i fafrafaa st 2 1,00,000 } | 39 TR F =q@@ ¥ 10%
ar aifera %) e A 9l =1 st o 2 12,000 ¥ | IR Wo@
& JATER, THIfd F1 YeqiwA AUy & 2 aul & Hd & YR W TT=R
T ¥ | Tafa o e et )

Capital employed by a firm is ¥ 1,00,000. Normal return of business
is expected at 10%. Average profit of last three years is ¥ 12,000.

According to partnership deed, goodwill is valued at two years'

purchase of super-profit. Calculate the value of goodwill.

rvr . we I 13 @ 15 7% O T ¥ ¥ wE@E W R 6 7% Fuif@ €
TAF Y W ArafEw e ¥
nstruction : Question Nos. 13 to 15 are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

99-13 'm'@‘a’@ﬂﬁﬁmﬁla‘a’ﬁﬂﬁwmm
wEHd ¥ 131 ’ 2016 %1 37 Fazal Frafafea ¥ -

Q
@$ fagat
(31 fewwary, 2016)
A ¥ raferat ufdr
(2) (%)
AR 10,000 | AFT AN 2,000
29 faux 8,000 | 27ER 7,000
T™h— O @ 3,600
‘' 6,000 HArER 400
‘|’ 4,000| 10,000 |TEA 15,000
28,000 28,000
NM-43B P.T.O.
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() EIE T qeg €250 @ R )

WA ;' % v 3 g Frefafaa weEee fm S

(ii) Efery ol Y 2 300 =1 WEUE fRar AT E |
(iii) T 600 fafram gofw
(V) T W 6 T 4,000 Tt @ T 3,000 I % ferg @ ¥

T G AUR T Gl TR |

A and B are equal partners in a firm. They admitted C as a new partner.

Their Balance Sheet on 31st December, 2016 is as follows :

Balance Sheet
(as on 31st December, 2016)

Liabilities A'(“‘;;"t Assets A'Z’;')’"‘
Creditors 10,000 | Cash Balance 2,000
Bills Payable 4 8,000 | Debtors 7,000
Capital- (%{\Q Stock 3,600

A ,000 Fumniture 400

O
B <~ 4000] 10,000 |Plant 15.000
@ e E]
28,000 28,000

The following adjustments are to be made before C's admission—

() Fumiture's value T 250.

(if) The provision of undisclosed X 300 on debtors.

(iif) Investment T 600.
(iv) Newly admitted partner C brought ¥ 4,000 for capital and
T 3,000 for goodwill.

On the basis of above information prepare Revaluation A/c.

-
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wvA-14  ‘ar’ o ‘=’ e i W wger ¥ & a-wf 30 ¥F a7uE A St T

‘o' ‘T o W A wier ¥ S 3:2 F orqura ¥ ew-wifT @ted €
wﬁ‘ﬂ'ﬁ% I & AT |WERR 9= 1 230,000 OSt & fag @
AT W &t FE B € 16,000 F A T 10,000 76 11 € | SEAER

Tt wfafteat sifea)

A and B are partners sharing profit and loss in the ratio of 3:2. They
admit C for % for share. C paid ¥ 30,000 for capital and ¥ 10,000 out

of his share of goodwill T 16,000. Pass necessary Journal Entnes.

[7]

HaqqT / OR

31 feasar, 2018 # I7H faga Fefafaa €

fargar
0
X\\Q@N fea=y, 2018)
S| ot | e
W 4@ v )
r—hl:rt\“(\\' 45,000 | THER 20,000
‘3’ w1 20,000 | fafay wafaat 70,000
= V)
i 10,000
‘/’ 15,000 25,000
90,000 90,000

w fifa 71w w1 fawes gan) Y @ 215,000 wE fafay gwfs @

!60,0003?@51“31@@]3'“'

(6]
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¥ 1-15

[8]
A4 and B are partners in a firm, sharing profits and losses in the

ratio of 3:1. Their Balance Sheet on 31st December, 2018 stood as
follows :

Balance Sheet
(as on 31st December, 2018)

. Amount
Liabilities AT‘;‘)‘“‘ Assets (?)
Creditors 45,000 | Debtors 20,000
A's Loan 20,000 | Sundry Assets 70,000
Capital- )
A 10,000
B _15.000( 25,000
90,000 90,000

They decided to dissolve the firm on that date. Debtors realized
¥ 15,000 and Sundry %sets realized ¥ 60,000. Prepare Realization A/c.
K\Q
&6 NG / OR
W | .
IggF wgg&mm % SR T STavae doft wafeat ifg
On the basis of deals of the above question, pass necessary
Journal Entries.

TH FEA AT 100 T 2000, 5% FOr9H Frif frn) 2 10 & R,
T 40 WA I NG Y T ﬁﬁnﬁwwh%umnﬁlmaﬁ | )
! TR # v v wfafedt wifg

A company issued 2000, 5% debentures of Z 100 each. Amounts are

(6]

payable ¥ 10 on application, 2 40 on allotment and the balance on

first and final call. All the amounts were duly received. Pass necessary
Journal Entries in the books of company.

NAM_41D

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(91
3rgar / OR

wIE 3¢ fefrd 3 ¢ 10 w stw ¥ 10000 3f S ) P T
FoY € 4 3 T, 2 3 aeed W TE € 3 wow aii ifm T v ea
1 T T ot e @ g el sfafet St

Fine Art Ltd. issued to the public for subscription of 10000 shares
of 2 10 each. payable at T 4 on application, ¥ 3 on allotment and
2 3 on first and final call. All the moncy were duly received. Write

the Journal Entries in the books of company.

e : mmiquﬁwﬁmmtwﬁmwmaaﬁmﬁuiﬁatlm
¥ W i fawea ¥

Instruction : Question Nos. 16 and 17 are numerical questions. Each
8 marks. Each question has an internal choice.

question carries

w¥t-16 qa:aisqﬂﬁuooaﬁzooo,sqsmﬁﬁﬁmmlzwaﬁﬁm,
4 zmmﬁam,zzowmmmmmsiﬁnmw%umm
uﬁlwﬂﬂﬁmmﬂm’rgaﬁﬁmmﬁvﬂwﬁmﬁﬁﬁm (8]

A company issued 2%, 5% debentures of ¥ 100 each, amount
payable as ¥ 10 og{{& ication, ¥ 40 on allotment, ¥ 20 on first call

and the balanq.ﬁ’moum on final call. All the amounts were duly
received. $§

Pass the%gecessary Journal Entries in the books of company.
Nqar / OR

x fafirs -3 € 100 a 10000 3f Fifira fFT) F T 2 30 AT R,
% 40 STEZ T, T 10 W ATEA W A T 20 3ifw A WA A1
ot qurE @ ® T wEER ) g § sravs o fafed
FfAT |

X Ltd. issued 10000 shares of ¥ 100 each, payable as ¥ 30 on
application, Z 40 on allotment, ¥ 10 on first call and ¥ 20 on final
call. Assume that all the money were duly received. Pass necessary
Journal Entries in the books of company.
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(10]
1

1
wA-17 'a',‘a'qai'q'qmq;dﬁmﬁaﬂrm-mﬁﬁm: >3 %
sy fasifor et &1 31 fawa, 2018 A W 1 e fefa faeeor

Frefafaa .
fager
(31 fegwaz, 2018)
T () wafwat ()
AW 19,000 | ¥ N g 2,500
< faw 5,000 | TR 15,500
wfem fify 12,000 | 3ifom 25,000
- () W MTE} 8,000
'’ 40,000 et 35,000
bl 30,000 J 45,000
g %@ 95,000
6‘
\6\0& 1,31,000 1,31.000
— N
i Em@ 1 94, 2019ﬁ3ﬁmgimﬁm ;
W’S :

0] wﬁaﬂaﬁmqwns,mmwh
(if) tmﬁqﬂmw%amn‘lamg‘mw%mm%l
(ii) mmaam%ﬂaﬂwaammﬁm%amm%l
(iv) miwmﬁu,‘?sommgl
mmﬁmm%m%ma'a'wﬁ
el e |

(8]
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[11]

A, Band C are partners in a firm, shaﬁng proﬁt and loss in the ratio
1 1 1

of 273 Their Balance Sheet on 31 December, 2018 is as follows :
Balance Sheet

(31 December, 2018)

Liabilities A';‘;‘)‘“‘ Assets A'E‘;‘;“‘
Creditors 19,000 | Cash at Bank 2,500
Bills Payable 5,000 | Debtors 15,500
Reserve Fund 12,000 | Closing Stock 25,000
Capital A/c— %) Motor Vehicle 8,000

A 40,000 Machinery 35,000

B 30,000 Building 45,000

C 25,000 95,000

1,31,000 1,31,000

B retired on 1st Jan., 2019. Following adjustments are to be made :
() Firm’s goodwill is&alucd at-Rs. 18,000.
O .
(if) Depreciate m@nery at 10% and motor vehicle at 15%.
(iii) Stock vag@‘?irncreased by 20% and building by 10%.

(iv) Bad @s reserve increased by ¥ 1,950,
Prepare Revaluation-A/c and B’s Capital A/c to execute the above
adjustments.

3rerar / OR

X, Y, Zaraer € faam amv-favem sruma 3: 2 1 %131 fewaw 2010 9
X w4 @ FFTHE TeW i ® 1 SuF fe 1 ofer 1 Frafwor 20,000
e a1 g% Tree ffa a6 3@ wfq ad €3,000 arffs gfv vsfa
A YA fF srem) w8 yrEe wfy ad # 1 sAed # fea s

wom =R FHl 1 e gfv e 98w Sy fE e ® W) 6% i
ad ¥

NM-43B
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fder

Instruction

UT-18

qy-19

(121

profit in

2010. The d |
ould be paid by annuity

the ratio of3:2: 1. X retires

X, Y and Z are partners sharing etermined amount of

from the firm on 31st December, -
his share is ¥ 20,000. It1s agreed that this
of € 3,000, The first payment to be paid o the

ar.
subsequent payment on 1st January of each y&
nterest @ 6% per annum.

following day and the
prepare the Annuity

Suspense A/c for 4 years charging i

wuE-(w) / Section-(B)
farefra firarcuit @t fargereoT

(Analysis of Financial Statement)

. T i 18 6 19 e 307 v § 1 TdE T T 3F Fif b

question carries 1 mark.
gl fawey Eﬁﬂl :
Choose the correct option :
4Te] 3T 1 e 't
(a0 4:1 \\Q@
(¥ 2:1 &6
() 1:1 \%Q\@’
(2 055

Ideal level of current ratio is :
(@ 4+1

(b) 2:1

(c) 1:1

(d) 05:1

What is the Standard Ratio for current ragiqo
107

NM-43B
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(13]
e : W FHF 20 } 22 7% @Y 907 v ¥ TAF IE W 4 3w Fraifea €
YAF WA W 31iafis freg &1

Instruction : i i '
Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. Each question has an internal choice.

vA-20 U3 YarE faau & vee #1 fadg Sifag (F§ 90 |

Discuss the importance of cash flow statement (any four).

(4]

3rerar / OR
A% vaw faan # g fafee (#¢ a0 |

Write the limitations of cash flow statement (any four).

uy-21 ﬁﬂaﬂmﬁmﬂmmmﬁmaﬁﬁq: [4]
: 31-3-2018 31-3-2017
(%) (%)
AT faar & AR bk 54,750 27,000
=i wifeat 11,250 13,950
3 49 10,200 17,850
- CA A - 18,000
T:ha.aaq 14,000 12,000
s TR 32,000 44,000
Calculate Cash Flows from operating activities with the help of the
following information :
. 31-3-2018 31-3-2017
Particulars @ ®
Balance in Statement of Profit and Loss 54,750 27,000
Trade Receivables 11,250 13,950
Outstanding Expenses 10,200 17,850
Patents - 18,000
Prepaid Expenses 14,000 12,000
Trade Payables 32,000 44,000
PlT.O.
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W¥1-22

arerar / OR

Freaferfiaa foercoll @ e @ W I8 A o T -
=g 2020 | T2019
fererrut (3) (2)
P— 5000 | 12,000
oY = 3,000 1,000
Teee =1 2,000 2,500
SR 13,000 15,000

a¥ 2020 ¥ A TV T T 25,000
From the following information, calculate Cash Flow from

operating activities :

Year 2020 | Year 2019
Particulars
® ®
Debtors 15,000 12,000
Outstanding Expenses 3,000 1,000
Prepaid Expenses 2,000 2,500
Creditors 13,000 15,000

Profit during the yeargzo 1s ¥ 25,000

Q
ﬁwi%if@ama:r{;@\%ﬂ I F o e
Fo Hufd 21 0, SR 1 % 60,000, M-

From the following information, calcylate Current Ry
Total Assets ¥.1,00,000, Shareholder’s Fund % gq atio :
Liabilities ¥ 20,000, Non-current Assets %50 ,000, Non

,000
37¥ar / OR
Fretfefan g & e 390 91 Y < »
TS 250,000, ] T 2 80,000, e t.
TR 25,000, 27 2 30,000 25,000,
Calculate Liquid Ratio from the following i,

Current Liabilities T 50,000, Current Assetg
¥ 25,000, Prepaid Expenses 2 5,000, Debtorg z

[4)

~Current

f°fmati0n .

NM-43B
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(18]
Frer : W I 23 A I e ¥ 1w W W 6 diw fPifa ¥

Instruction : Question No. 23 is long answer type question. It carries 6 marks.

y1-23 ol faveheol & stvat #) awwme (R ) | [1x676]
Discuss the objectives of Financial Analysis (any s&v).
ar /7 OR
e feredrawr qen e Preero A si FRT ) (6]

Distinguish between Horizontal Analysis and Vertical Analysis.

wog-(q) / Section-(C)
WY AT
(Computer Accounting)
frdwr . g HEIE 18 T 19 ey I R €1 wew v w1 i i

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries | mark.

uy-18  §E fawew 9T (1]
Choose the correct option :
Frped 1 wam R s
(3) ¥ () v A
(%) =EEE () IR o
Computer isUsed at :
(a) bank (b) hospital
(c) business (@) All of the above

WoA-19  Frel & wien fed wwa ¥ 2 (1]
Which is called the brain of computer?

e : WE HHI® 20 ¥ 22 7% oY ST w1 €| WA TEH W 4 ofw AR €

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks.

WeA-20  FREAW wE Wiwdw ¥ 3w v i (w8 W) | [1Nd-4]

Distinguish between Hardware and Software (any four).

NM-43B PT.O.
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[16]

srgar/ OR
FY § Fagoret ¥ i W FIfIg (FE 90 |

Differentiate between Computer and Calculator (any fowr).
U¥-21  FR{d dEiET yonet ¥ A9 THAE (N an) | [1x4=4)
Discuss the disadvantages of Computerized Accounting System (any four).

e/ OR
@i ¥ Fe F vifire s (4]

Write the role of computer in accounting.
WA-22  IREE H Savawa fafay (#1E /) | [1x4=4]
Write the necessity of Database (any JSour).

arerar/ OR
mwumasmﬁmmﬁm.

Write the functions of Database Management System (any four).

Frdvr : mmzazﬁgﬁnmtlmmw&mﬁtﬁﬁatl

Instruction : Question No. géis long answer type question. It carries 6 marks.

u¥T-23 mmﬁﬁﬁmﬂmm w)| [I+1+1+1414]1=6)

Write the c@actenst:cs of Electronic Spreadsheet (any six).

N9qT/ OR

ﬁ-ﬂaﬁmﬁmma@wmwt(ﬁm)?

What are the main elements of Payroll Calculation (any six)?
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